Sr Questions Answers Choice

1 S8 S B85 (e (50 S a5 (e (Btae S uimo s

0~ Do

2 o SIS S ) aaxie (e A1 S &g S,

3 w8 an 5 (S Sl ) am g i (e g o 0S5,

4 o 28 S G I S AL S (S et (e S e 0,

5 5 e oS8 s 538 e e (S Al 5 s A,

6 s o ke Cig a8 100 (S Guigopgm,

Cigo ) g

sl o5

c.udui\ 3™
el eVl e s

7 = s o Dladaba Cag o i (S ) s S,

96
98
100
102

8 = 08 A S Bl e (s e S (s S (S e

9

10
11
12

9 O S S e psiso s

106
107
108
109

10 Op Al (S Guigro g

Uowy» UDOmP» UDOwWP UDOWr U0OWwW» OOwr» OU0Wr»r DOwWrPr U0OWwr UOWrP
O
I



